

## SLOT RECEIPT

GENERATED AT 2025-02-08 22:28 (UTC)



BLOCKCHAIN BEACON-CHAIN

SLOT ID <u>8039576</u>

DATE & TIME Dec 23, 2023 · 02:36 (UTC)

SLOT STATUS In epoch 251,236 ⋅ CONFIRMED ✓

SLOT FEE NO FEE

## DEPOSITS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>1092259</u>	+ 32.000000000 ETH � 73,073.28 USD
<u>2</u>	1092260	+ 32.000000000 ETH � 73,073.28 USD
<u>3</u>	<u>1092261</u>	+ 32.000000000 ETH � 73,073.28 USD
<u>4</u>	1092262	+ 32.000000000 ETH � 73,073.28 USD
<u>5</u>	1092263	+ 32.000000000 ETH � 73,073.28 USD
<u>6</u>	1092264	+ 32.000000000 ETH
7	1092265	+ 32.000000000 ETH � 73,073.28 USD

<sup>\*</sup> USD values displayed at the time of slot

8       1092266       + 32.0000000000 ETH ⊗ 73,073.28 USD         9       1092267       + 32.0000000000 ETH ⊗ 73,073.28 USD         10       1092268       + 32.0000000000 ETH ⊗ 73,073.28 USD         11       1092269       + 32.0000000000 ETH ⊗ 73,073.28 USD         12       1092270       + 32.0000000000 ETH ⊗ 73,073.28 USD         13       1092271       + 32.0000000000 ETH ⊗ 73,073.28 USD         14       1092272       + 32.0000000000 ETH ⊗ 73,073.28 USD         15       1092273       + 32.0000000000 ETH ⊗ 73,073.28 USD         16       1092274       + 32.0000000000 ETH ⊗ 73,073.28 USD	1092267	<u>#</u>	<u>Validator Id</u>	<u>Amount</u>
10       1092268       + 32.0000000000 ETH ♥ 73,073.28 USD         11       1092269       + 32.0000000000 ETH ♥ 73,073.28 USD         12       1092270       + 32.0000000000 ETH ♥ 73,073.28 USD         13       1092271       + 32.0000000000 ETH ♥ 73,073.28 USD         14       1092272       + 32.0000000000 ETH ♥ 73,073.28 USD         15       1092273       + 32.0000000000 ETH ♥ 73,073.28 USD         16       1092274       + 32.0000000000 ETH ♥	73,073.28 USD  1 1092268  1 1092269  1 1092270  1 2.000000000 ETH ♥ 73,073.28 USD  2 1092270  1 32.000000000 ETH ♥ 73,073.28 USD  3 1092271  1 32.000000000 ETH ♥ 73,073.28 USD  4 1092272  1 32.000000000 ETH ♥ 73,073.28 USD  4 1092272  1 32.000000000 ETH ♥ 73,073.28 USD  5 1092273  1 32.000000000 ETH ♥ 73,073.28 USD  5 1092274  1 32.000000000 ETH ♥ 73,073.28 USD  1 1072091  1 0.017390831 ETH ♥ 39.71 USD  1 1072092  1 0.017371241 ETH ♥ 39.66 USD  1 1072093  1 0.017385882 ETH ♥	<u>8</u>	<u>1092266</u>	
11       1092269       + 32.0000000000 ETH ♥ 73,073.28 USD         12       1092270       + 32.0000000000 ETH ♥ 73,073.28 USD         13       1092271       + 32.0000000000 ETH ♥ 73,073.28 USD         14       1092272       + 32.0000000000 ETH ♥ 73,073.28 USD         15       1092273       + 32.0000000000 ETH ♥ 73,073.28 USD         16       1092274       + 32.00000000000 ETH ♥	73,073.28 USD  1 1092269	9	<u>1092267</u>	
12       1092270       + 32.0000000000 ETH ♥         13       1092271       + 32.0000000000 ETH ♥         14       1092272       + 32.0000000000 ETH ♥         15       1092273       + 32.0000000000 ETH ♥         16       1092274       + 32.0000000000 ETH ♥	73,073.28 USD  2 1092270	<u>10</u>	1092268	-
13       1092271       + 32.000000000 ETH ♥         14       1092272       + 32.000000000 ETH ♥         15       1092273       + 32.000000000 ETH ♥         16       1092274       + 32.000000000 ETH ♥	73,073.28 USD  3 1092271	<u>11</u>	1092269	
73,073.28 USD  14 1092272 + 32.0000000000 ETH ❖ 73,073.28 USD  15 1092273 + 32.000000000 ETH ❖ 73,073.28 USD  16 1092274 + 32.000000000 ETH ❖	73,073.28 USD  4 1092272	<u>12</u>	<u>1092270</u>	-
73,073.28 USD  15 1092273 + 32.000000000 ETH ♥ 73,073.28 USD  16 1092274 + 32.000000000 ETH ♥	73,073.28 USD  1092273	<u>13</u>	<u>1092271</u>	
73,073.28 USD  16 1092274 + 32.000000000 ETH ❖	73,073.28 USD  1092274  + 32.0000000000 ETH  73,073.28 USD  THDRAWALS EVENTS  Validator Id  Amount  1072091  - 0.017390831 ETH  39.71 USD  1072092  - 0.017371241 ETH  39.66 USD  1072093  - 0.017385882 ETH  ○	<u>14</u>	<u>1092272</u>	
<del></del>	73,073.28 USD  ITHDRAWALS EVENTS  Validator Id Amount  1072091 - 0.017390831 ETH  39.71 USD  1072092 - 0.017371241 ETH  39.66 USD  1072093 - 0.017385882 ETH  ○	<u>15</u>	<u>1092273</u>	
	Validator Id       Amount         1072091       - 0.017390831 ETH ♥ 39.71 USD         1072092       - 0.017371241 ETH ♥ 39.66 USD         1072093       - 0.017385882 ETH ♥	<u>16</u>	<u>1092274</u>	
WITHDRAWALS EVENTS	1072091 - 0.017390831 ETH			
# Validator Id Amount	39.71 USD  1072092 - 0.017371241 ETH   39.66 USD  1072093 - 0.017385882 ETH   ○	#	Validator Id	Amount
<del>-</del>	39.66 USD 1072093 - 0.017385882 ETH �	<u>1</u>	<u>1072091</u>	
<del>-</del>		<u>2</u>	1072092	
<del>-</del>		<u>3</u>	1072093	

<u>#</u>	<u>Validator Id</u>	Amount
<u>4</u>	1072094	- 0.017327408 ETH � 39.56 USD
<u>5</u>	1072095	- 0.017341322 ETH   39.59 USD
<u>6</u>	1072096	- 0.017323966 ETH   39.55 USD
<u>7</u>	<u>1072097</u>	- 0.017345644 ETH
<u>8</u>	1072098	- 0.017340764 ETH   39.59 USD
9	1072099	- 0.017298307 ETH
<u>10</u>	<u>1072100</u>	- 0.059309308 ETH � 135.43 USD
<u>11</u>	<u>1072101</u>	- 0.017380689 ETH
<u>12</u>	<u>1072102</u>	- 0.017301492 ETH
<u>13</u>	<u>1072103</u>	- 0.017302131 ETH   39.51 USD
<u>14</u>	<u>1072104</u>	- 0.017332182 ETH
<u>15</u>	<u>1072105</u>	- 0.017393045 ETH � 39.71 USD
<u>16</u>	<u>1072106</u>	- 0.017259801 ETH � 39.41 USD

## PROPOSALS EVENTS

#	Validator Id	Amount
1	<u>431395</u>	+ 0.037570708 ETH � 85.79 USD

## DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.

<sup>\*</sup> USD values displayed at the time of slot